



## A note on Hermite interpolation

A. Jakimovski and D. Leviatan

### Abstract

Let  $x_0, x_1, \dots, x_n \in \mathbb{R}$ , be pairwise disjoint, and let  $\theta_0, \theta_1, \dots, \theta_n \in \mathbb{N}$ . Set  $\theta := \sum_{\nu=0}^n \theta_\nu$ . For each pair  $j, p$  such that  $0 \leq j \leq n$  and  $0 \leq p \leq \theta_j - 1$ , let  $y_{j,p}$  be a complex number. Then there is a unique polynomial,  $H(x)$ , of degree  $\theta - 1$ , such that

$$H^{(p)}(x_j) = y_{j,p}, \quad \text{for } 0 \leq p \leq \theta_j - 1, \quad 0 \leq j \leq n.$$

In particular, there is a unique fundamental Hermite polynomial,  $T_{j,p}(x)$ , of degree  $\theta - 1$ , such that

$$T_{j,p}^{(r)}(x_s) = \delta_{j,s} \delta_{p,r}, \quad 0 \leq r \leq \theta_s - 1, \quad 0 \leq s \leq n,$$

$\delta$  being Kronecker's delta, and we have the representation

$$H(x) = \sum_{\substack{0 \leq p \leq \theta_j, \\ 0 \leq j \leq n}} H^{(p)}(x_j) T_{j,p}(x) = \sum_{\substack{0 \leq p \leq \theta_j, \\ 0 \leq j \leq n}} y_{j,p} T_{j,p}(x).$$

We give an explicit representation of the polynomials  $T_{j,p}(x)$ .

**Keywords:** Hermite interpolation, explicit representation of the fundamental polynomials.

**MSC:** 41A05, 41A10.

Communicated by

M. Jiménez

Received

July 31, 2018

Accepted

November 8, 2018



## §1. Introduction

Fix  $n \in \mathbb{N}$ . Let  $x_0, x_1, \dots, x_n \in \mathbb{R}$ , be pairwise disjoint, and let  $\theta_0, \theta_1, \dots, \theta_n \in \mathbb{N}$ . Set  $\theta := \sum_{\nu=0}^n \theta_\nu$ , and let

$$\omega(x) := \prod_{\nu=0}^n (x - x_\nu)^{\theta_\nu} \quad \text{and} \quad \omega_j(x) := \omega(x)/(x - x_j)^{\theta_j}, \quad 0 \leq j \leq n.$$

For each pair  $j, p$  such that  $0 \leq j \leq n$  and  $0 \leq p \leq \theta_j - 1$ , let  $y_{j,p}$  be a complex number. Then there is a unique polynomial,  $H(x)$ , of degree  $\theta - 1$ , such that

$$H^{(p)}(x_j) = y_{j,p}, \quad \text{for} \quad 0 \leq p \leq \theta_j - 1, \quad 0 \leq j \leq n.$$

If  $T_{j,p}(x)$  is the Hermite interpolation polynomial, of degree  $\theta - 1$ , such that,

$$T_{j,p}^{(r)}(x_s) = \delta_{j,s} \delta_{p,r}, \quad 0 \leq r \leq \theta_s - 1, \quad 0 \leq s \leq n,$$

$\delta$  being Kronecker's delta, then it readily follows that the above polynomial  $H(x)$  has the representation

$$H(x) = \sum_{\substack{0 \leq p \leq \theta_j, \\ 0 \leq j \leq n}} H^{(p)}(x_j) T_{j,p}(x) = \sum_{\substack{0 \leq p \leq \theta_j, \\ 0 \leq j \leq n}} y_{j,p} T_{j,p}(x).$$

Thus, we are interested in representing the fundamental Hermite polynomials  $T_{j,p}(x)$ ,  $0 \leq p \leq \theta_j$ ,  $0 \leq j \leq n$ .

In the literature (see, e.g., [3, 2.5 Ex. 4, (2.5.25)-(2.5.27)], [6, pp. 844-849], [2, Chapter 1], [1, p. 147 (33) and (34)]) one may find a representation that involves derivatives of  $\omega_j^{-1}(x)$  evaluated at  $x = x_j$ . Such a representation was useful, for instance, to Szabados [5], and could be used to obtain an explicit representation of  $T_{j,p}(x)$ . In fact, in [4, pp. 201-204] the authors work out the differentiation and give an explicit representation, and we would like to thank Giuseppe Mastroianni for bringing this book, in Rumanian, to our attention, but this book is hardly accessible.

We obtain here the explicit representation in a very simple way, with no differentiation and, in addition, we provide a recursive formula for computing the terms.

## §2. Main result

Given a pair  $j, p$ ,  $0 \leq p \leq \theta_j - 1$ ,  $0 \leq j \leq n$ , straightforward calculations show that the function

$$f_{j,p}(x) := \frac{(x - x_j)^p \omega_j(x)}{p! \omega_j(x_j)} g_{j,p}(x), \quad (2.1)$$

where  $g_{j,p}(x)$  is an infinitely differentiable function with the only requirement that  $g_{j,p}(x_j) = 1$ , satisfies

$$f_{j,p}^{(r)}(x_s) = \delta_{j,s} \delta_{p,r}, \text{ for } 0 \leq r \leq \theta_s - 1, s \neq j, \text{ and } 0 \leq r \leq p, s = j. \tag{2.2}$$

Hence, we look for  $g_{j,p}(x)$  so that  $f_{j,p}(x)$  also satisfies

$$f_{j,p}^{(r)}(x_j) = 0, \quad p < r \leq \theta_j - 1. \tag{2.3}$$

We will construct a polynomial  $g_{j,p}(x)$  of degree  $\theta_j - 1 - p$  that guarantees (2.3) and such that  $g_{j,p}(x_j) = 1$ . Thus, (2.1) would yield a representation for  $T_{j,p}(x)$ .

For  $q \in \mathbb{N}_0$ , denote

$$H_{j,q} := \{(\tau_\mu)_{\mu \neq j} : \tau_\mu \in \mathbb{N}_0 \text{ and } \sum_{\mu \neq j} \tau_\mu = q\}.$$

We have the following result.

**Theorem 2.1.** *Given a pair  $j, p, 0 \leq p \leq \theta_j - 1, 0 \leq j \leq n$ , the function*

$$g_{j,p}(x) = \sum_{q=0}^{\theta_j-1-p} B_{j,q}(x-x_j)^q,$$

where

$$B_{j,q} := \sum_{(\tau_\nu)_{\nu \neq j} \in H_{j,q}} \prod_{\nu \neq j} \binom{\tau_\nu + \theta_\nu - 1}{\tau_\nu} (x_\nu - x_j)^{-\tau_\nu}, \quad 0 \leq q \leq \theta_j - 1 - p. \tag{2.4}$$

**Corollary 2.2.** *Given a pair  $j, p, 0 \leq p \leq \theta_j - 1, 0 \leq j \leq n$ , we have*

$$T_{j,p}(x) = \frac{(x-x_j)^p}{p!} \frac{\omega_j(x)}{\omega_j(x_j)} \sum_{q=0}^{\theta_j-1-p} B_{j,q}(x-x_j)^q,$$

where  $B_{j,q}$  is given in (2.4).

In order to prove the theorem we need the following simple lemma.

**Lemma 2.3.** *Given  $j$ , denote*

$$D_j := \{x : |x - x_j| < \min_{s \neq j} |x_s - x_j|\}.$$

The function  $\omega_j^{-1}(x)$  is analytic in  $D_j$  and possesses the Taylor expansion about  $x_j$ ,

$$\frac{1}{\omega_j(x)} = \frac{1}{\omega_j(x_j)} \sum_{q=0}^{\infty} B_{j,q} (x - x_j)^q, \quad x \in D_j, \quad (2.5)$$

where

$$B_{j,q} := \sum_{(\tau_\nu)_{\nu \neq j} \in H_{j,q}} \prod_{\nu \neq j} \binom{\tau_\nu + \theta_\nu - 1}{\tau_\nu} (x_\nu - x_j)^{-\tau_\nu}, \quad q \geq 0.$$

*Proof.* Recall that  $\omega_j(x) = \prod_{\nu \neq j} (x - x_\nu)^{\theta_\nu}$ . Hence,

$$\omega_j^{-1}(x) = \prod_{\nu \neq j} \left( (x_j - x_\nu) \left( 1 - \frac{x - x_j}{x_\nu - x_j} \right) \right)^{-\theta_\nu} = \omega_j^{-1}(x_j) \prod_{\nu \neq j} \left( 1 - \frac{x - x_j}{x_\nu - x_j} \right)^{-\theta_\nu}. \quad (2.6)$$

Now, for each  $\nu \neq j$ ,

$$\left( 1 - \frac{x - x_j}{x_\nu - x_j} \right)^{-\theta_\nu} = \sum_{q=0}^{\infty} \binom{q + \theta_\nu - 1}{q} (x_\nu - x_j)^{-q} (x - x_j)^q, \quad x \in D_j,$$

and the Cauchy product of the  $n - 1$  absolutely convergent series in  $D_j$ , combined with (2.6) yield,

$$\omega_j^{-1}(x) = \omega_j^{-1}(x_j) \sum_{q=0}^{\infty} B_{j,q} (x - x_j)^q, \quad x \in D_j.$$

This completes the proof. ■

*Proof of Theorem 2.1.* Given  $0 \leq p \leq \theta_j - 1$ , observe that the function  $h_j(x) := (x - x_j)^p / p!$  satisfies

$$h_j^{(r)}(x_j) = \delta_{r,p}, \quad r \geq 0. \quad (2.7)$$

For  $x \in D_j$ , by Lemma 2.3, write

$$h_j(x) = \frac{(x - x_j)^p \omega_j(x)}{p! \omega_j(x)} = \frac{(x - x_j)^p \omega_j(x)}{p! \omega_j(x_j)} \sum_{q=0}^{\infty} B_{j,q} (x - x_j)^q.$$

Then for  $p < r \leq \theta_j - 1$ , it follows by (2.7) that,

$$\begin{aligned}
 0 = h_j^{(r)}(x_j) &= \sum_{k=0}^r \binom{r}{k} \left( \frac{(x-x_j)^p}{p!} \right)^{(k)} \Big|_{x=x_j} \left( \frac{\omega_j(x)}{\omega_j(x_j)} \sum_{q=0}^{\infty} B_{j,q}(x-x_j)^q \right)^{(r-k)} \Big|_{x=x_j} \\
 &= \binom{r}{p} \left( \frac{\omega_j(x)}{\omega_j(x_j)} \sum_{q=0}^{\infty} B_{j,q}(x-x_j)^q \right)^{(r-p)} \Big|_{x=x_j} \\
 &= \binom{r}{p} \left( \frac{\omega_j(x)}{\omega_j(x_j)} \sum_{q=0}^{\theta_j-1-p} B_{j,q}(x-x_j)^q \right)^{(r-p)} \Big|_{x=x_j} \\
 &= p_j^{(r)}(x_j),
 \end{aligned} \tag{2.8}$$

where

$$p_j(x) := \frac{(x-x_j)^p}{p!} \frac{\omega_j(x)}{\omega_j(x_j)} \sum_{q=0}^{\theta_j-1-p} B_{j,q}(x-x_j)^q. \tag{2.9}$$

Comparing (2.1) with (2.9), we conclude that we may take

$$g_{j,p}(x) := \sum_{q=0}^{\theta_j-1-p} B_{j,q}(x-x_j)^q,$$

a polynomial of degree  $\theta_j - 1 - p$ , such that  $g_{j,p}(x_j) = 1$ , and (2.3) is satisfied. This completes the proof. ■

*Proof of Corollary 2.2.* The polynomial  $g_{j,p}(x)$  is the truncated Taylor expansion of  $\omega_j(x_j)/\omega_j(x)$ , and once we have the concrete polynomial  $g_{j,p}(x)$ , we do not limit  $x$  to be in  $D_j$ . ■

### §3. Recursive formula

Following an idea of Szabados [5], we provide an inductive way to compute the coefficients  $B_{j,q}$ .

**Theorem 3.1.** For  $\theta_j \geq 2$ ,  $0 \leq j \leq n$ , let

$$a_{i,j} := \sum_{\substack{\nu=0 \\ \nu \neq j}}^n \frac{\theta_\nu}{(x_\nu - x_j)^i}, \quad 1 \leq i \leq \theta_j - 1.$$

Then

$$B_{j,q} = \frac{1}{q} \sum_{i=1}^q a_{i,j} B_{j,q-i}, \quad 1 \leq q \leq \theta_j - 1.$$

*Proof.* First, we observe that

$$a_{i,j} = \frac{1}{(i-1)!} \left( \frac{\theta_j}{x-x_j} - \frac{\omega'(x)}{\omega(x)} \right)^{(i-1)} \Big|_{x=x_j}, \quad 1 \leq i \leq \theta_j - 1,$$

and that,

$$\left( \frac{1}{\omega_j(x)} \right)' = \frac{1}{\omega_j(x)} \left( \frac{\theta_j}{x-x_j} - \frac{\omega'(x)}{\omega(x)} \right). \quad (3.1)$$

It follows by (2.5) that,

$$B_{j,q} = \frac{\omega_j(x_j)}{q!} \left( \frac{1}{\omega_j(x)} \right)^{(q)} \Big|_{x=x_j}.$$

Hence, for  $1 \leq q \leq \theta_j - 1$ ,

$$\begin{aligned} \frac{1}{q} \sum_{i=1}^q a_{i,j} B_{j,q-i} &= \frac{\omega_j(x_j)}{q} \sum_{i=1}^q \frac{1}{(i-1)!} \left( \frac{\theta_j}{x-x_j} - \frac{\omega'(x)}{\omega(x)} \right)^{(i-1)} \Big|_{x=x_j} \frac{1}{(q-i)!} \left( \frac{1}{\omega_j(x)} \right)^{(q-i)} \Big|_{x=x_j} \\ &= \frac{\omega_j(x_j)}{q!} \left[ \left( \frac{\theta_j}{x-x_j} - \frac{\omega'(x)}{\omega(x)} \right) \frac{1}{\omega_j(x)} \right]^{(q-1)} \Big|_{x=x_j} \\ &= \frac{\omega_j(x_j)}{q!} \left[ \left( \frac{1}{\omega_j(x)} \right)' \right]^{(q-1)} \Big|_{x=x_j} \\ &= \frac{\omega_j(x_j)}{q!} \left( \frac{1}{\omega_j(x)} \right)^{(q)} \Big|_{x=x_j} = B_{j,q}, \end{aligned}$$

where for the third equality we have applied (3.1). ■

## References

- [1] Berezin I. S. and N. P. Zhidkov (1965)  
Computing Methods, Pergamon Press Ltd., Addison-Wesley Publishing Company Inc., London.

- [2] Bojanov B. D., H. Hakopian and A. Sahakian (1993)  
Spline Functions and Multivariate Interpolations, Mathematics and its Applications 248, Kluwer Academic Publishers Group, Dordrecht.
- [3] Davis P. J. (1975)  
Interpolation & Approximation, Dover Publications Inc., New York.
- [4] Stancu D. D., G. Coman, O. Agratini and R. Trimbítás (2001)  
Analiză Numerică și Teoria Aproximării Vol. I, Presa Universitară Clujeană, Cluj-Napoca.
- [5] Szabados J. (1993)  
On the order of magnitude of fundamental polynomials of Hermite interpolation, Acta Math. Hungar. 61(3-4), 357-368.
- [6] Szász, P. (2000)  
A differenciál-és integrálszámítás elemei I-II, Typotex Ltd. Electronic Publishing House, Budapest.

A. Jakimovski and D. Leviatan,  
Raymond and Beverly Sackler School of Mathematical Sciences,  
Tel Aviv University,  
Tel Aviv 6139001, Israel.  
jakimov@post.tau.ac.il, leviatan@tauex.tau.ac.il